CALCULUS 181
Stewart — Chapter 3

Chapter 3 Exam
Differentiate. Show all your work.
Ly=5%
A 1y
Y ,’('L“"ﬂ(zx > =X (1)
el X
(2 +x)*
~
- Xz(l*’/zx-XB
(Z+) *
72
= X ( | - ‘/‘LK>
C2a+x) %
2. y =secBtand
4y

= <5ec 93(515163 + (fmes«ceﬁé‘:*"ﬁ)

= ge,cgg 4 -&«le*S{C&

A X

3. f() = @x-3)' 2 +x+ 1)

Name: ¥ j

$D= “f(b(—zf (Zx)(x Z+x+l§§+ (Zx—z)q(S‘(x 2+x+l§q(v<+‘)3
= [ﬂ—gx?(x 7+X+\)‘4(L[ ('ZX\()( 2+){+|3 + ('LX'?&\(’ZX"”)}

3 (¥
= (1><—3§ -(x%—xHS( ( Ix*r Sx 2L X 4 l—/xz—ﬂm-SS

= (1x-333(x "+x+»v (Zx3+;7_x1+ux_3§




4. y = cor (sin9)
Ay

[

- . /
T = 2Cot (sméB (&mf@/’n 6*»

-7 eot { sin 9\ (—- 6_50,7(5/.’\93\ ($1.n63 /
= 2cot ($in e\ (- ese?(sine)) ( cos 9>
= _ 2. cot(S//[e-\ C.SCZ(SI./?Q) Co S&e

5. Find an equation of the tangent line to the curve y = #2= at the point (0, 1)
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6. Find % by implicit differentiation.
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7. Use logarithmic differentiation to find the derivative of the function.
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8. If a ball is thrown vertically upward with a velocity of 80 ft/s, then its height after ¢ seconds is s = 807 167 .
When does the ball reach it's maximum height?
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9. A baseball diamond is a square with sides 90 ft. A batter hits the ball and runs toward first base with a speed of
24 ft/s. At what rate is his distance from second base decreasing when he is halfway to first base? Please draw a

picture and label your variables on the picture.
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